ERAENERE (FEA)

HEMERLTIH (FHSEE)

2 FERAENEEE (kWh)
a8 &t BEZF TDihZE

4H 8,876 8,876.0
5H 9,512 9,512.0
6 H 10,240 667.0 9,573.0
1R 9,661 9,661.0 -
8H 9,401 9,401.0 -
9H 8,788 8,457.0 331.0
104 8,381 8,381.0
11H 8,180 8,180.0
128 9,760 9,760.0
18 8,232 8,232.0
2H 8,728 8,728.0
3H 7,801 7,801.0
= 107,560 28,186.0 79,374.0

ERFEENE (FHA)

HEMER TG (RH7FE~SHOEE)

2 FERFEENE (KWh)
a8 &t BE=F TDihZE
4H 9,000 - 9,000.0
5RH 9,000 - 9,000.0
6H 9,000 - 9,000.0
1R 9,000 9,000.0 -
8H 9,000 9,000.0 -
9R 9,000 9,000.0 -
104 9,000 - 9,000.0
118 8,000 - 8,000.0
128 9,000 - 9,000.0
18 8,000 - 8,000.0
2H 8,000 - 8,000.0
3R 8,000 - 8,000.0
a&t 104,000 27,000.0 77,000.0
3FEE 312,000
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